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ECONOMICS

CHAPTER-2-PEOPLE AS RESOURCE

1. Which of the following is included in the secondary sector?
a) Poultry farming
b) Manufacturing
c) Transport
d) Quarrying

2. Which of the following is the most labour absorbing sector of the Indian Economy?
a) Primary sector
b) Tertiary Sector
c) Secondary sector
d) Private sector

3. Which one of the following is considered important to create a “Virtuous Cycle ‘by 
the parents?

a) To send their children to school
b) To provide good food to their children
c) To join their children in corporate schools
d) To take care of their children’s health and education.

4. Investment in human capital can be made through.
a) Education
b) Training
c) Medical care
d) All the three

5. Why literacy rate is low in the females?
a) Lack of equal education opportunities
b) Lack of transport facilities
c) Lack of infrastructure
d) Lack of income

6. Domestic work by the housewife is an----------Activity.
a) Economic
b) Non-Economic
c) Both of the above
d) None of the above

7. The tertiary sector is also called as---------
a) Primary sector
b) Service sector
c) Manufacturing sector
d) All of the above

8. On which of the following aspects, the quality of population does not depend on?
a) Literacy Rate
b) Health of person
c) Skill formation
d) Birth of a person



9. The excess population is considered as liability for an economy, but they can 
become human capital, if there is investment made in the form of:

a) Education and Health
b) Hospitals and schools
c) Education, training and medical care
d) None of the above.

10. Human resource is different from other resources like land, and physical capital?
a) Human resources are considered as liability rather than assets
b) Developed countries invest heavily on human resources.
c) Human resource can make use of physical capital. Land and capital 

cannot become useful on its own
d) Efficiency and technology have made human resource more superior.


